





Content
DE - Inhalt FR - Contenu

R o [0 T T 0 =] T 1
DE - Packungsinhalt
FR - Contenu du colis

EN - INStall the AUXILArY PArts essmrsmsers e 3
DE - Installieren Sie die Hilfsteile
FR - Installer les organes auxiliaires

EN - Adjustment of CHUCK ANGLE -rrmmrmmrmmrm oo 10
DE - Einstellung des Spannfutterwinkels
FR - Réglage de l'angle de Chuck

EN = CONNECtiNg the MACHING  ---mmrmrmrrrms oo 11
DE - AnschlieBen der Maschine
FR - Connexion de la Machine

EN = HOW t0 USE YRC N L@SEIGRBL - o oo 13
DE - So verwenden Sie YRC in LaserGRBL
FR - Comment utiliser le CRJ au LaserGRBL

EN - HOow to use YRC IN LIGNTBUIN +-mmrmmmmmmm oo 16
DE - So verwenden Sie YRC in LightBurn
FR - Comment utiliser le CRJ au LightBurn

EN - Other brand mMachin@s USE YRC «r-rmrrrmrmrmr oo s 18
DE - Maschinen anderer Marken verwenden YRC
FR - D'autres machines de marque utilisent YRC



Package Contents
DE - Packungsinhalt FR - Contenu du colis

B Main Part e Tailstock
Hauptteil Reitstock
Partie principale Porte - queue
B Square Jaw e Ladder Jaw
Quadratischer Kiefer Leiterkiefer
Machoire carrée Machoire de l'échelle
= =
e Stud _ e Wrench
= — Stollen Schraubenschlussel
_ _ étalon (C— Clé anglaise
@ Rotary Knob '_ 2 B Mini Level
Drehknopf o Miniebene
Bouton rotatif Niveau inferieur
ol T B Tape Measure e M4*10mm Screw
lo 1‘ 2/ 3) MaBband aaaaaa M4*10mm Schraube
e Bande Mesureur CROUROURIER RIS Vis M4*10mm

EN/DE/FR © 2022 ORTUR



(= (3] [2]

(=] [B] [2]

Adapter Cable
Adapterkabel
Cable adaptateur

Y-axis Motor Cable
Y-Achsen-Motorkabel
Cable moteur a axey

B 3mm Allen key
3mm Inbusschlussel
Cle Allen 3mm

EN/DE/FR © 2022 ORTUR

2



Install the Auxiliary Parts
DE - Installieren Sie die Hilfsteile FR - Installer les organes auxiliaires

1

e Rotary Knob
Drehknopf
Bouton rotatif

3 EN/DE/FR © 2022 ORTUR



2: Expand or shrink the chuck
DE - Aus- oder Verkleinern des Futters FR - Agrandir ou retrécir le Chuck

By Wrench
o] Schraubensch Ussel
F  Clé anglaise

|
|

L&“

b {

{@:}

EN/DE/FR ©2022ORTUR 4



M4*10mm Screw
M4*10mm Schraube
Vis M4*10mm

(=] [B] [2]

Ladder Jaw
Leiterkiefer
Machoire de l'echelle —

z 3] [2]

EN/DE/FR © 2022 ORTUR



EN - According to the object to adjust the position of the ladder jaw, can be locked on other screw holes, can also
be flipped to install.

DE - Je nach Objekt kann die Position der Leiterbacke eingestellt werden, kann an anderen Schraubenldéchern
verriegelt werden, kann auch gedreht werden, um zu installieren.

FR - Selon l'objet pour ajuster la position de la machoire de 'échelle, peut étre verrouillé sur d'autres trous de vis,
peut egalement étre retourneé pour l'installer.

EN/DE/FR ©20220ORTUR 6



N Square Jaw e M4*10mm Screw
Quadratischer Kiefer M4*10mm Schraube
Machoire carréee ——— — Vis M4*10mm

EN - Square jaw and ladder jaw, please choose one set according to the object to install and use.

DE - Quadratischer Kiefer und Leiterbacke, bitte wahlen Sie einen Satz entsprechend dem zu installierenden und
zu verwendenden Objekt.

FR - Machoire carrée et échelle, choisissez un ensemble en fonction de l'objet a installer et a utiliser.

EN/DE/FR © 2022 ORTUR



B Stud
Stollen
— etalon

EN - Stud is suitable for spherical objects, please adjust the mounting position of the stud and the extension size
of the chuck according to the size of the object.

DE - Bolzen ist fUr spharische Objekte geeignet, bitte passen Sie die Montageposition des Bolzens und die
VerlangerungsgroBe des Futters entsprechend der GroBe des Objekts an.

FR - Le goujon convient pour les objets sphériques, veuillez ajuster la position de fixation du goujon et la grosseur
d’'extension du goujon en fonction de la taille de ['objet.

EN/DE/FR © 2022 ORTUR



B Tailstock
Reitstock
Porte - queue

EN/DE/FR © 2022 ORTUR



Adjustment of chuck Angle
DE - Einstellung des Spannfutterwinkels FR - Reglage de 'angle de Chuck

@Ig

EN - Release the knob to adjust the angle of the chuck, the maximum adjustable angle is 180°.
DE - Lassen Sie den Knopf los, um den Winkel des Futters einzustellen, der maximal einstellbare Winkel betragt 180 °.
FR - Relachez la poignée pour ajuster 'angle du mandrin, 'angle maximal reglable est de 180°.

EN/DE/FR © 2022 ORTUR

10



Connecting the Machine
DE - AnschlieBen der Maschine FR - Connexion de la Machine

EN - "Y-axis Motor Cable" is connected to the cable with "Y" mark on the machine.
DE - "Y-Achsen-Motorkabel" wird mit dem Kabel mit der Markierung "Y" auf der Maschine verbunden.
FR - Le "cable moteur a axe Y" est relié au cable avec la marque "Y" sur la machine.

BN Y-axis Motor Cable
Y-Achsen-Motorkabel
Cable moteur a axey

117 EN/DE/FR © 2022 ORTUR



1: Machine connected to ORTUR
DE - An ORTUR angeschlossene Maschine FR - Machine connectée a ORTUR

BN YRR Motor Cable
YRR-Motarkabel
YRR cable moteur

OLM2PRO 51/S2
[ ]

2: Machine connected to AUFERO
DE - An AUFERO angeschlossene Maschine FR - Machine connectee a AUFERO

‘ AL2

EN - Remove Y1 and Y2 cables of AL2, and connect Y1 cable to "Y-axis Motor Cable".
DE - Entfernen Sie Y1- und Y2-Kabel von AL2 und verbinden Sie das Y1-Kabel mit dem "Y-Achsen-Motorkabel"
FR - Enlevez les cables Y1 et Y2 de AL2, et connectez le cable Y1 au «cable moteur a axe y».

EN/DE/FR © 2022 ORTUR

12



How to use YRC in LaserGRBL
DE - So verwenden Sie YRC in LaserGRBL FR - Comment utiliser le CR) au LaserGRBL

EN - YRC button download link: E E

DE - YRC-Button-Download-Link:
FR - Lien de télechargement du bouton YRC:

https://ortur.tech/documentation/YRC/YRC_Button_LaserGrbl.zip E

-I 4 LaserGRBL v4.9.4 - m] X
Grbl  File Colors Language Tools Ortur ?

COM COM4 Baud 115200 & % X: 0.000 Y: 0.000

1350

1300,

1250,

1150

EN - Right click the blank space and click the Import custom buttons.

DE - Klicken Sie mit der rechten Maustaste auf den leeren Bereich, und klicken Sie auf die
Schaltflachen Benutzerdefinierte importieren.

FR - Cliquez a droite sur l'espace vierge et sur les boutons Import custom.

1190,

159

- L 5
a 158 160 1150 Tz80 ZE0 1360 E0 1480 1250 T30 TS50 T
Eﬁﬁ@

S[1.00x] |G1[[[¥] Lock position (click to reorder)

I | Import custom buttons

EN - Import button after connecting the machine.
DE - Schaltflache Importieren nach dem AnschlieBen des Gerats.
FR - Importation bouton apres connexion de la machine.

13 EN/DE/FR © 2022 ORTUR



4 Open X
&« v > ThisPC » D:\ » YRC Button v | D £ Search YRC Button
Organize v Mew folder =~ [H o
[ This PC " Name - Date modified Type
;’ 3D Objects 10/12/2022 1:36 PM This file co
[ D\
Decuments
& Downloads Import custom button >
D Music
[&=] Pictures
B videos Remove actual buttons? Select yes to remove, no to keep.
‘e Local Disk (C:)
- Local Disk (D:)
o v < >
File name: | YRC v| ZippedButton ~
Yes Mo Cancel

EN - Select the download button file and open it, then click Yes in all pop-up windows.
DE - Wahlen Sie die Schaltflachendatei aus, 6ffnen Sie sie und klicken Sie in allen Popup-Fenstern auf Ja.
FR - Sélectionnez le fichier téeléecharger et ouvrez-le, puis cliquez sur oui dans toutes les fenétres pop-up.

e | -\
'Fw,) Q Remove button W

Dlirl- VDD Lt Edt b tt
Engraving myths and truth (videc) |5['I.'D : - r:m —status: |dle .:

Carbar Crerr.-

EN - Right click the button in the red frame, and then click the edit button.
DE - Klicken Sie mit der rechten Maustaste auf die Schaltflache im roten Feld und wahlen Sie Bearbeiten aus.
FR - Cliquez a droite sur le bouton de la boilte rouge, puis sur le bouton modifier.

R——— EN - Measure the perimeter of the object with a tape measure.
1 | 2{ ' 3’ DE - Messen Sie den Umfang des Objekts mit einem MaBband.

79in

g
1|l lo I
l.. T — FR - Mesure le périmetre de ['objet avec un ruban.

EN/DE/FR ©2022 ORTUR 14



15

5 Custom Button n

Type: Button w ‘
Image Gode

$ze=0
ESIORIE Y neasure perimeter

Caption |YRC |

Tool Tip |Use a tape measure to measure the perimeter of the carve|

Enabled  Always i ‘

— Use dot as decimal separator
— Support math expression in square brackets: 1.e. GO X[left5]

¥ [bottom—=E]
— Arailable variables: left, right. top. bottom, width, height..

{and more)

See https:/flasersrbl. com/usaze/custom—buttons/

Cancel ‘ I Save I

erimeter]

EN - Enter the perimeter in the red frame and click Save.
DE - Geben Sie den Umfang in den roten Rahmen ein und
klicken Sie auf Speichern.

FR - Entrez dans le perimetre dans le cadre rouge et cliquez

sur enregistrer.

o

EN - Left click to make the parameter effective.

#) [MSG:25:USB SERIAL STREAM COMMECTE.
&) ortur Laser Master 3 Ready!

&) 0OLF:285_ RC25.

% OLH:0LM_ESP_PRO_WV2.4B.

&) OLM:GENERAL.

#)GrblHAL 1.1F ["$" or "S$HELP' for h.
& 3x

#) [M5G:3:Caution: Unlocked]

2 $22=0
2 $181=45.008

(Note: For objects with different perimeters, they must be modified into corresponding perimeters!)

DE - Klicken Sie mit der linken Maustaste, um den Parameter effektivzu machen.

(Hinweis: Fur Objekte mit unterschiedlichen Umfangen mussen diese in entsprechende Umfange modifiziert werden!)
FR - Cliguez a gauche pour gque le parametre soit efficace.
(remarque: pour les objets ayant des périmetres differents, ils doivent étre transformes en perimetres correspondants!)

EN/DE/FR © 2022 ORTUR



DE - Wenn Sie YRC nicht verwenden, klicken Sie bitte auf diesen Button, da sonst die normale
Nutzung beeintrachtigt wird!
FR - Sivous n'utilisez pas YRC, cliguez sur ce bouton, sinon l'utilisation normale sera affectée!

0 EN - When you do not use YRC, please click this button, otherwise normal use will be affected!

[ e )

How to use YRC in LightBurn
DE - So verwenden Sie YRC in LightBurn FR - Comment utiliser le CRJ au LightBurn

-I Cuts / Lavers Move Console
Ready
IIPause .Stop ’ Start
- EN - Modify the options in the red frames.
L Frane SupFzaaei ] | Save GCode || Fun GCode DE - Andern Sie die Optionen in den roten Rahmen.
m]{ome Go to Origin Start From:l Current Position w ||——— 71— FR - MOdlﬂeZ LES Optlons danS I"es ImaQES rouges
c O O
Job Origzin @) @]
[ Cut Selected Graphics @ = O
OB Use Selection Origin -1:'- Show Last Fosition
@0 Optimize Cut Fath Optimization Settings - |
Console
Devices | COM4 ~ | OLM3 hd [DRIVER: ESF32-52]
[DRIVER VERSION:220327]
[DRIVEE OPTIONS:v4. 4. 1-dirty]
[BOARD: Ortur Laser Master 3]
[WIFT MAC:54:F7:03:E5:85:563]
[IF:192.165.5.1]
[PLUGIN: Power Detecter v1.0]
2 [FLUGIN:Fower Control v1.0]

[PLUGIN: zvroscope sensor v1.0]
[PLUGIN: Trinamic +0.09]
[PLUGIN: SICARD v1.05]

[PLUGIN: ESP32 WebUT +0.03]

EN - Enter $22=0 in the console window, and press Enter to send [PLUGIH: GADGET v1.00]

the command. ok v
DE - Geben Sie $22=0in das Konsolenfenster ein und drucken Sie  «—— [sze=al | Show <11 M
die Eingabetaste, um den Befehl zu senden. Macr ol Wacrol Waor o2

FR - Entrez 22 $=0 dans la fenétre de la console et appuyez sur

Macro3 Macrod Macrob
Enter pour envoyer la commande.

Cuts / Layers Move Console

EN/DE/FR © 2022 ORTUR



3 File Edit Tools Arrange LaserTools Window Language Help
i »
E\o b B 8 0 & Printand Cut
¥Pos 0.000 S mm % ° Calibrate Camera Lens
oo (LT . Q il @ Calibrate Camera Alignment
. " %  Rotary Setup Ctrl+Shift«R | |[——
h- g D+ FocusTest
! i Interval Test
D b B Material Test
~ @ Center Finder
4 55 Rotary Setup - LightBurn 1.2.01 ? *
Rotary Type
(® Chuck
() Roller

I‘j Enable Eotary

EN - Modify the options in the red frames.
DE - Andern Sie die Optionen in den roten Rahmen.
FR - Modifiez les options dans les images rouges.

EN - Measure the perimeter of the object with a tape measure.
DE - Messen Sie den Umfang des Objekts mit einem MaBband.
FR - Mesure le périmetre de ['objet avec un ruban.

OB Mirror Output to Retary il II'IIHIHIH\‘H
oo il
L- - ...“|m.|-u‘uuiuﬁlhﬂ!lll!l!l!ﬂ p—— L
Rotary fxis I v I )
i =al tat
@ T fxis + ! nm per rotation
()T his &3, 662mm 5+ Object Diameter
]
() & Bxis
I I 200 000mm 3 ICircumference
Test
T

EN - Select "Chuck", open "Enable Rotary", select "Y Axis", and fill in the parameter 96mm.
DE - Wahlen Sie "Chuck", offnen Sie "Enable Rotary', wahlen Sie "Y Axis" und geben Sie den Parameter 96mm ein.
FR - Sélectionnez "Chuck", ouvrez "activer le rotatif ', selectionnez "Y Axis" et remplissez le parametre 96mm.

17 EN/DE/FR © 2022 ORTUR



[DRIVER: ESP32-52]

[DRIVER VERSION:220327]
[DRIVER OPTIONS:v4. 4. 1-dirty]
[BOARD : Ortur Laser Master 3]
[WIFI MaC:84:F7:03:E6:85:58]
[1P:192.168.5.1]
[PLUGIN:FPower Detecter v1.0]
[PLUGIN:Power Contrel v1.0]
[PLUGIN: gyroscope sensor vl o]
[PLUGIN: Trinamic v0.09]
[PLUGIN: SICARD v1.05]
[PLUGIN: ESF32 WebUI v0.03]
[PLUGIN: GADGET v1.00]

ok

Al

EN - When you do not use YRC, enter $22=1 in the console window, and then press
Enter to send the command.

DE - Wenn Sie YRC nicht verwenden, geben Sie im Konsolenfenster $22=1 ein, und
drucken Sie dann die EINGABETASTE, um den Befehl zu senden.

FR - Lorsque vous n'utilisez pas YRC, entrez 22 $=1 dans la fenétre de la console,
pUis appuyez sur enter pour envoyer la commande.

¥

{[s22=1]

Show a1 O |

Maer ol Macrol

Macro3 Macrod

Cutz / Lavers Movre Console

MacroZ

Macrob

Other brand machines use YRC
DE - Maschinen anderer Marken verwenden YRC FR - D'autres machines de marque utilisent YRC

1: LaserGRBL

& S
7 | 2l (e

)

i . | i : )
(e || Tl T
A R a

Carkar Crarmin | =Y P

Dlirl-

VDD

eS| I

—

Remowve button

Engraving myths and truth (videc)

(510

Edit button

Type: Button
Imaze GCode
fre=]

F101F[9600 fheasure perimeter]

EN - Different brands of machines have different per rotation values. You need to
find and modify the corresponding values yourself.

DE - Verschiedene Maschinenmarken haben unterschiedliche Werte pro Rotation.
Sie mussen die entsprechenden Werte selbst finden und andern.

FR - Les différentes marques de machines ont des valeurs de rotation différentes.
Vous devez trouver et modifier vous-méme les valeurs correspondantes.

EN/DE/FR © 2022 ORTUR

18



2: LightBurn

%% Rotary Setup - LightBurn 1.2.01 ? b

Rotary Tvpe

~

® Chack EN - Different brands of machines have different per rotation values. You need to
find and modify the corresponding values yourself.
DE - Verschiedene Maschinenmarken haben unterschiedliche Werte pro Rotation.

ORoller ) s - . *
Sie mussen die entsprechenden Werte selbst finden und andern.
FR - Les differentes marques de machines ont des valeurs de rotation differentes.
0 B e Vous devez trouver et modifier vous-méme les valeurs correspondantes.

OB Mirrer Output to Rotary

Rotary Axis I

® ¥ Axis

96.00 '3 Imm per rotation

O Z Axis 63, 662mm 5| Object Diameter
(O & Axis

200] 000mm '3 | Cireumference
Test

Cancel

o
vm—

W\W

R

e Adapter Cable
Adapterkabel
Cable adaptateur

EN - Through the "Adapter Cable" you can connect machines

of other brands.
DE - Uber das "Adapterkabel" konnen Sie Maschinen anderer

Marken anschlieBen.
FR - Grace au cable «adaptateur», vous pouvez connecter des
machines d'autres marques.

19 EN/DE/FR © 2022 ORTUR



(EN) Address: No. 1 Building, Ruijin Science and Technology Industrial Park, Changping, Dongguan 523558, Guangdong, China
(DE) Adresse: Gebaude Nr. 1, Ruijin Science and Technology Industrial Park, Changping, Dongguan 523558, Guangdong, China

(FR) Adresse: No. 1 Batiment, Ruijin la science et de la technologie du parc industriel, Changping, Dongguan 523558, Guangdong, Chine

Youtube Instagram Twitter Support Facebook

EDA (EFE & X £ @= =8 RoHS ¥






